DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - GS/500

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in GS & MA

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840719092 In 1937 elections, Congress 2 3 Congress ministries Both abjections and give are correct.
Governments (without were there in nine Congress ministries were formed in 7
coalition) were formed in provinces provinces and in second provinces
how many provinces? coalition ministries were formed. Hence

correct optionis 1

79840719176 Which State of India has 3 1 Rajasthan Objection is correct. Correct optionis 1
maximum asbestos reserves
79840719229 Who are on the East — West 4 1 Only Andand and Objection is correct. Correct optionis 1

line Chetan are on E-W line




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE -713

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in BOTANY

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840720442 Bars of sanio 2 1 Thickened boundaries | Correct optionis 1
79840720458 Necrohormone Theory 3 1 Adventives embryo Correct option both 1 & 3
79840720466 Repeated DNA sequence 2 2&4 Trans posansmutions Correct option both 2 & 4
79840720489 Dimorphic leaves 4 3&4 Cycas pinus Correct option both 3 &4
79840720490 Age of cycads 2 3 Jurassic Correct option is 3
79840720522 Manihot glaziorie 1 2 Rubber species in Correct option both 1 & 2
correct
79840720526 Chalazal haustoria 3 1 Favacee also Correct option both 1 & 3
79840720532 Ascent of sap - Force 2 1 Root press use also Correct option both 1 & 2
79840720545 Neck canal cells in pinus 1 2 Correct option both 1 & 2
79840720558 Non — Cyclic 3 4 Chlo Correct option both 3 & 4
photophosphorylation
79840720561 Amitosis 2 4 Without spindle also Correct option both 2 & 4
79840720568 Plant part of poppy 4 3 Moist unripe Correct optionis 3
79840720583 Father of Indian Plant Tissue 3 4 P. Maheswari Correct option is 4

Culture




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 709

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in Political Science

Question ID Gist of the Question Answer as per key | Answer as per Candidates Gist of Objection Decision of the Commission
79840724040 Fundamental Rights 2 - deleted
79840724058 Machiavelli underlined the 1 4 Correct optionis 4
importance of politics as
79840724059 Machiavelli liberty was threatened 2 1 Correct optionis 1
by
79840724061 Science Hobbes 3 4 Correct optionis 4
79840724067 Locke civil society 4 2 Correct option is 2
79840724068 Locke to defend a minimal State 2 1 Correct option is 3
79840724069 Rousseau’s 2 3 deleted
79840724072 Which society Rousseau 1 2 Question is deleted wrongly
framed
79840724083 Basic Principle of foreign Policy 3 4 Correct optionis 4
79840724097 Liberalism 4 - deleted
79840724103 Liberal internationalism 1 3 deleted
79840724111 Third way 4 3 Correct option is 3
79840724115 Westphalia Constitution 3 1 (Candidates are given Correct option is 2
different options)
78840724128 Military Affairs 1 2 Correct option is 2
79840724130 Sustainable Development Goal of 4 1 Correct optionis 1
UNO
79840724140 Bodin 2 1 Correct optionis 1
79840724141 Origin of the State Marx 3 4 Correct optionis 4
79840724142 Negative liberalism 4 0 Correct option is 2
79840724154 Liberal view of politics 4 3 deleted
79840724166 Comparative Politics 1 2 Correct option is 2
79840724181 Policy Sciences 4 3 Correct option is 3




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE -712

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in Chemistry

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates

79840723505 For Which pair of complexes 1 1&2 The Correct answer is both 1 & 2
the order of values of Ao is
Correct?

79840723506 The crystal field stabilization 4 - No correct option is given. Hence
energy of K2[PtCl6] is question deleted

79840723507 Which metal complex 2 2&4 The Correct answer is both 2 & 4
among the following is
expected to undergo Jahn
Teller distortion?

79840723533 What is the maximum Rf 2 1 The correct answer is 1
value for any molecule in
paper chromatography is

79840723547 The correct statement 3 4 The correct answer is 4
regarding the following
compound is

79840723576 Identify ‘A’ and ‘B’ in the 4 1&4 The Correct answer is both 1 & 4
following reactions

79840723577 The spin system of aromatic 3 2 The correct answer is 2
protons in o-
dichlorobenzene is

79840723578 The base peak in the mass 3 - English and Telugu versions are typed
spectrum of 3 — butyn — 1| ol differently, as per Telugu version the
is due to which of the correct answer is 3 and no correct answer
following fragments? for the English version. Hence the

guestion deleted.




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE -705

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in Commerce

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840723612 If a hypothesis is statistically 1 1&3 The correct answeris 1 & 3
significant
79840723635 Profit sharing is a system 2 3 The correct answeris 1 & 3
79840723638 Which test can be used both 3 2 The correct answer is 2
as parametric & non-
parametric
79840723640 Digital Products 2 2&3 The correct answer is 2
79840723661 Not among major internet 3 4 The correct answeris 1,2 & 4
domains
79840723686 Level of Significance 2 1 The correct answer is 1
79840723696 Optional output decision 4 1 The correct answer is 1
79840723707 Traits of Leadership 3 2 The correct answer is 2
79840723708 Training is to operatives a 4 1 The correct answer is 1

development is to




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE -717

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in Bio-Technology

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840723331 Enzyme acts as an 4 2 correct optionsis 2 &4
antioxidant in oxidative
stress.
79840723339 | - is an antioxidant 3 2 The correct answer is 2
79840723341 Maleic Acid occurs in the 1 3 None of answer is correct hence question
fruits of------- . is deleted.
79840723347 An antibacterial antibiotic is 1 3 The options 1,2 & 3 are correct answers.
79840723364 Cdc mutants are used for 2 3 The correct answer is 3
the study of ------ .
79840723390 | - cannot be 2 4 The correct answer is 4
determined by traditional
Northern Blotting.
79840723391 Microorganisms remove 2 4 The correct answer is 4
metals by ----- .




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 703

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in HINDI

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840719707 2 1 1
79840719710 3 1 1
79840719711 2 3 1&3
79840719753 2 3 3
79840719755 1 2 2&4
79840719765 3 1 1,2&3
79840719784 2 3 3
79840719804 2 3 3
79840719831 2 1 1




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE -707

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in ECONOMICS

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840720015 Maximum Tea producing 1 2 The correct answer is 2
country
79840720028 Concept of Unit root 3 4 The correct answer is 4
79840720065 Probability of Female 4 2 Framing of Question in English version is

in correct. For Telugu version key is
wrong. The question is deleted

79840720072 Oligopoly 2 1&3 The correct answer is 1.
79840720086 Public Goods 3 4 Question not well framed hence question
is deleted.
79840720102 Basic objectives of Fiscal 2 3,4, All The question is deleted.
policy
79840720104 Gender Empowerment Index 2 3 The correct answer is 3
79840720110 National Agriculture policy, 4 2,3,all Both options 3 & 4 are correct.

2000




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 708

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in HISTORY

Question ID

Gist of the Question

Answer as per
key

Answer as per
Candidates

Gist of Objection

Decision of the Commission

79840720293

Name the person who
supervised the first
excavation of Indus valley

The correct answer is 1

79840720299

The evidence of Indian ships
depicted on a seal, a
potsherd and a

The correct answeris1 & 2

79840720310

The religious scriptures of
Mahayanism were written in

The correct answer is 3

79840720338

Which of the following
classical works deal with
metrological observations
leading to rainfall
cultivation, crops, etc.

The correct answer is 4

79840720352

Khan-i-Jahan Magpul, the
Prime Minister of Firuz
Tughlug was

1&2

The correct answeris1 & 2

79840720355

Chief aim of the Saints of
Bhakti movement was

The correct answer is 1,2&3

79840720367

Who among the following
was a great patron of
paintings

The correct answer is 3

79840720375

Who said, “Let us strike at
the trunk or the withering
tree: the branches will fall of
themselves”.

The correct answer is 2

79840720382

How was Madras acquired
by the British

1,2,3,84

79840720383

After being expelled from
Calcutta by Sirajud-daulah,

18&2

1&3




the English continued to
conspire from

79840720396

Which organisation did the
British dislike most

Deleted

79840720418

Number of countries
participated in the last
meeting of League of
Nations

None

79840720420

Name the party of Mussolini
before the First World War

None

Deleted

79840720422

How many times revolution
broke out in Russia during
20" Century

The correct answer is 3

79840720424

Bolshevik Revolution was
started in Russia in

1&2

The correct answer is 1

79840720425

The Germany became the
member of NATO in the year

The correct answer is 4

79840720431

In which year Texas was
annexed

The correct answer is 3




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 702

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in TELUGU

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates

79840723137 2 1 The correct answer is 1

79840723142 3 1 The correct answer is 1

79840723147 1 284 The correct answer is 2&4

79840723160 1 1,284 deleted

79840723200 2 0 deleted

79840723201 3 0 deleted

79840723204 4 0 deleted

79840723216 1 384 4

79840723221 3 1&2 deleted

79840723226 4 2 284

79840723252 2 3 The correct answer is 2 &3

79840723253 1 4 The correct answeris1 & 4

79840723257 3 4 The correct answer is 4

79840723262 4 0 deleted




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 719

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in COMPUTER APPLICATONS

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840723912 Networks in class C 3 2 The correct answer is 2
79840723927 Sorting a list which is almost 2 1 The correct answer is 1
sortered
79840723929 A sort which compares 1 4 The correct answer is 4
adjacent elements
79840723932 A Primary key for an entity is 1 The correct answeris1 & 3
79840723934 Relation is in 2NF and 3 NF 1&2 The correct answer is 1
forms
79840723946 If (rear==maxsize — 1) 1 4 The correct answer is 4
79840723959 Kerberos 1 3 The correct answer is 1 &3
79840723973 Ways to divide flowers 2 4 The correct answer is 4
79840724012 Friend 3 2 The correct answer is 2 &3
79840724018 Undesirable type of coupling 4 2 The correct answer is 2
is
79840724021 Match the following 3 2 The correct answer is 2
79840724026 Difference between XML 3 2 The correct answer is 2
and HTML
79840724029 Colour to Red 2 4 The correct answer is 4




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 718

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in COMPUTER SCIENCE

Question ID Gist of the Question Answer as per Answer as per Gist of Objection Decision of the Commission
key Candidates
79840723748 A Pair of dice is tossed 2 None The correct answer is 1
79840723752 At a given moment a queue 1 None Question is deleted
79840723756 Singly linked circular list 4 2 The correct answer is 3
79840723803 Delimiters of Asynchronous 1 1&3 The Question is deleted
79840723804 Shell variable 2 1 The correct answer is 1
79840723849 For the grammar below 1 1&3 The Question is deleted
79840723871 In a distributed system 1 2&4 1,2 &4




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 711

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in PHYSICS

Question ID Gist of the Question Answer as per | Answer as per Gist of Objection Decision of the Commission
key Candidates
79840724788 2X2 Mastices 2 284 The correct answer is 2
79840724790 Relative to inertial frame 3 4 The correct answer is 4
79840724801 Complese function 2 4 The correct answer is 4
79840724812 Central force 3 2&3 The correct answeris 2 & 3
79840724818 Homiltonian from Lagranguan 2 None Deleted
79840724838 Electric filed vector 3 None The correct answer is 2
79840724846 Unpolarized light 4 3 The correct answer is 3
79840724866 Hydrogen atom 2 4 The correct answer is 3
79840724867 Angular momentum 3 2&3 Deleted
commutation
79840724878 Outer atomic shells 1 0 The Question is deleted
79840724895 Polished stone floor 2 0 The correct answer is 4
79840724913 Magnetic susceptibility of 3 1 The correct answer is 1
superconductor
79840724928 Transistor 1 3 The correct answer is 3
79840724936 A photon strikes an electron 4 2 The correct answer is 2




DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE - 714

To the Post of Lecturers in Government Degree Colleges in A.P — Notification 26/2016 Subject in Zoology

Question ID Gist of the Question Answer as per key | Answer as per Candidates Gist of Objection Decision of the Commission
79840724195 The type of placenta in ruminants 3 2 The correct answer is 2
79840724201 Holometabolus type of 4 3&4 The correct answeris3 & 4
metamorphosis is
79840724203 Sunderbans are located in 3 2 The correct answer is 2
79840724222 Trematode parasite with no 3 1&4 The correct answeris3 & 4
intermediate host
79840724226 Indicator of the amount of pollution 2 1 The correct answeris 1 & 2
79840724227 The type of gills in palaemon is 2 1 The correct answer is 1
79840724240 The oriental disease kala azar is 3 4 The correct answer is 3 &4
caused by
79840724247 Selection has been found in 1 3&4 The correct answer is 3
79840724259 Deletion of nucleotide of DNA 1 2&3 The correct answer is 2
79840724265 | -——-- Is an analogous structure 1 None The question is deleted
79840724267 Gall bladder is absent in 4 None The question is deleted
79840724271 The function of Kuffer cells in liver is 2 1&2 The correct answer is 1
79840724279 HIV infection causes 1 2 The correct answer is 2
79840724292 Birds evolved from 2 3 The correct answeris 2 & 4
79840724300 Disease found in only man 4 2 The question is deleted
79840724303 In phylum ---- the adults are benthic 4 2&4 The correct answeris 2 & 4
and the larvae are pelagic
79840724313 Yolk ---- sac placenta is present in 1 1&3 The correct answeris 1 & 3
79840724324 The number of testis in earthworm 2 None The question is deleted
are
79840724325 The average time taken for the 1 None The question is deleted

gueen honeybee to complete
metamorphosis and emerge out as
an adult is

Sd/-
SECRETARY



